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Mixed Ho/H- and f -synthesis Approach to Coupled
Three-Inertia Benchmark Problem
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Abstract: This study investigates the use of mixed Ho/Hx and g-synthesis to construct a robust controller for the benchmark
problem. The model treated in the problem is a coupled three-inertia system which reflects the dynamics of mechanical
vibrations. We, first, adopt the mixed Hz/Hw theory to des.gn a feedback controller K(s). Next, #-synthesis method is applied to

the overall system to make use of structured parametric uncertainty.
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